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PHY REGISTER MAP
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Link_speed

Link_speed:

0002 S100 98.304Mb/s
0012 S200 196.608Mb/s

0102 S400 393.216Mb/s

0112 S800 786.432Mb/s

1002 S1600 1,572.864Mb/s

1112 S3200 3,145.728Mb/s

Max_speed (Read only) = the  maximum s igna ling speed
of the  s lowest port in the  PHY

M_speed (Read/Write ) = 1, Multiple  speed ports  in the  PHY
0, Homogenous  speed ports .

Link_speed (Read/Write ) = the  maximum speed of the  Link

During the  power up, the  default va lues  of M_speed and
Link_speed a re  0.
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PORT REGISTER MAP

Per_port_speed: (= the maximum signaling speed of the specific port of the PHY)
0002 S100 98.304Mb/s

0012 S200 196.608Mb/s

0102 S400 393.216Mb/s

0112 S800 786.432Mb/s

1002 S1600 1,572.864Mb/s
1112 S3200 3,145.728Mb/s
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MODIFIED SELF_ID PACKET

• sp = the maximum signaling speed of the slowest port in the
PHY. If that speed is more than 400Mb/s, then sp=11.

• Normally the rsv bits are 0, if the PHY has the multiple speed
ports or slower link, then one of the two rsv bits is set to 1. Or
rsv=01 indicates .a compliant PHY.
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SOLUTIONS: THE MODIFIED
SELF_ID PACKET & BM’S

SPEED MAP

1. sp = real_speed and rsv = 01 indicate .a compliant PHY. For
the old BM S/W, the sp will be used to build up the speed
map. For the new BM S/W, rsv=01 indicates the PHY is a .a
compliant PHY and it knows to read PHY reg3 to check the
M_speed and the Link_speed. If M_speed=1, the BM S/W will
read the port register to get the per port speed information
and build up the speed map. If the Link_speed is slower than
PHY, the Link_speed will be used to build up the speed map.

(Potential Problem: Some old S/W may check Del = 00?)
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SOLUTIONS: THE MODIFIED
SELF_ID PACKET & BM’S

SPEED MAP (Cont.)

2. sp = real_speed and rsv = 00. For the old BM S/W, the sp will be
used to build up the speed map. For the new BM S/W, it will
always read PHY reg3 to check the M_speed and the
Link_speed. If M_speed=1, the new BM S/W will read the port
register to get the per port speed information and build up the
speed map. If the Link_speed is slower than PHY, the
Link_speed will be used to build up the speed map.

3. sp = real_speed and rsv = 01 indicate that either the
    slower link or the multiple speed ports. The new BM S/W will

check it out by reading the PHY reg3.
(Potential Problem: Some old S/W may check Del = 00?)
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SOLUTIONS: THE MODIFIED
SELF_ID PACKET & BM’S

SPEED MAP (Cont.)

4. sp = real_speed or 11, rsv = 00. (if Link_speed is not equal to
phy_speed or multiple speed ports, sp = 11). The new BM S/W
will sort it out whether the Link_speed is slower or the multiple
speed ports when sp = 11. The old BM S/W might have problem
when sp = 11 because of the slower Link_speed.


